

St. Louis County, Minnesota



Date of Report: 5/13/2025 2:53:35 PM

Parcel ID: Plat Name: Section 34 Description:	275-0025-004 BREVATOR	19		tails			
Section 34	BREVATOR						
Section 34	BREVATOR	Le	gal Descriptio	on Details			
34							
	Тс	ownship	R	lange		Lot	Block
Description:		50		17		-	-
	S 400 FT OF	N 608 FT OF 3	SE1/4 OF SE1/4	· · · · ·			
Taun augus Marras		DDICK	Taxpayer Do	etalis			
Taxpayer Name and Address:	FLEISCH FRE 3529 FREEM						
and Address.	CLOQUET MI						
		- DOIO!	Owner Det	ails			
Owner Name	FLEISCH FRE		able 2025 Tex	. C			
		-	able 2025 Tax	Summary	.		
	2025 - Ne	t Tax			\$5,78	9.00	
	2025 - Sp	ecial Assessme	ents		\$8	5.00	
	2025 - 1	otal Tax &	Special Asse	ssments	\$5,87	4.00	
		Curren	nt Tax Due (as	of 5/12/2025)		
D	ue May 15		Due Octob	per 15		Total Du	e
2025 - 1st Half Ta	x \$2,937.00	2025 - 2	2nd Half Tax	\$2,93	7.00 202	5 - 1st Half Tax Due	\$0.00
2025 - 1st Half Ta	x Paid \$2,937.00	2025 - 2	2nd Half Tax Paid	\$2,93	7.00 202	2025 - 2nd Half Tax Due	
2025 - 1st Half D	ue \$0.00	2025 - 2	2nd Half Due	¢	0.00 202	5 - Total Due	\$0.00
2023 - 1St Hall D	40.00	2023 - 2			0.00 202		\$0.00
Property Address:	2520 EDEEM	AN RD, CLOQI	Parcel Det	ans			
School District:	94	AN ND, CLOQU					
Tax Increment Dist							
Property/Homestea		EDRICK & KAF	REN				
		Assessme	ent Details (20	25 Payable 2	026)		
Class Code (<mark>Legend</mark>)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Lanc EMV	I Def Bldg EMV	Net Tax Capacity
	Owner Homestead 0.00% total)	\$59,600	\$387,800	\$447,400	\$0	\$0	-
	Total:	\$59,600	\$387,800	\$447,400	\$0	\$0	4411



St. Louis County, Minnesota



			Land De	etails		
Deeded Acres:	12.14					
Naterfront:	-					
Vater Front Feet:	0.00					
Vater Code & Desc:	W - DRILLED WE	ELL				
Gas Code & Desc:	-					
Sewer Code & Desc:	S - ON-SITE SAM	NITARY SYSTI	EM			
ot Width:	0.00					
ot Depth:	0.00					
The dimensions shown are n	ot guaranteed to be s	urvey quality. A	Additional lot	information can be	found at	
https://apps.stlouiscountymn	.gov/webPlatsIframe/f	-	· · ·		ons, please email PropertyTa	ax@stlouiscountymn.go
		Improv	vement 1	Details (HSE)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
HOUSE	1983	1,15	52	1,728	GD Quality / 864 Ft ²	AF - A-FRAME
Segment	Story	Width	Length	Area	Foundati	on
BAS	1.5	32	36	1,152	WALKOUT BAS	SEMENT
DK	0	6	10	60	POST ON GR	ROUND
DK	0	8	14	112	PIERS AND FC	OTINGS
DK	0	10	48	480	PIERS AND FC	OTINGS
DK	0	12	22	264	POST ON GR	ROUND
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC
2.25 BATHS	3 BEDROOM	/IS	-		1 C8	AIR_COND, PROPAN
		Improven	nent 2 Det	tails (DG 28X4	4)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
GARAGE	1983	1,23		1,232	-	DETACHED
Segment	Story	Width	Length	Area	Foundati	-
BAS	1	28	28	784	FLOATING	-
WIG	1	_0 16	28	448	FLOATING	-
	•	-		-		
· · · · · -		-		tails (PB 30X4	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Dese
POLE BUILDING	1986	1,20		1,200	-	-
Segment	Story	Width	Length	Area	Foundati	-
BAS	1	30	40	1,200	POST ON GR	ROUND
		Improver	nent 4 De	tails (ST 12X20	0)	
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	2003	24	0	240	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	12	20	240	POST ON GR	ROUND
		Improver	nent 5 De	tails (PB 42X7	5)	
	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Dese
Improvement Type						
Improvement Type POLE BUILDING	1994	3,15	50	3,150	-	-
	1994 Story	3,18 Width	50 Length	3,150 Area	- Foundati	-





St. Louis County, Minnesota

		Improveme	ent 6 Details (ZE	BO 95SQFT)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Sty	le Code & Desc.	
GAZEBO	0	95	5 9	95	-		-	
Segmen	nt Story	y Width	Length	Area	Founda	ation		
BAS	0	0	0	95	POST ON C			
		Improv	ement 7 Details	(20X40)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Sty	le Code & Desc.	
	1983	80	0 8	00	-	С	- CONC SURFC	
Segmen	-		Length	Area	Foundation			
BAS	0	20	40	800	-			
		Improve	nent 8 Details (GAZEBO)				
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Sty	Style Code & Desc.	
GAZEBO	2021	38	4 3	84	-		-	
Segmen	nt Story	y Width	Length	Area	Foundation			
BAS	0	16	24	384	FLOATIN	G SLAB		
No Sales informat	ion reported.							
		As	sessment Histo	ory				
Year	Class Code (Legend)	Land EMV	Bidg EMV	Dry Total EMV	Def Land EMV	Def Bidg EMV	y Net Tax	
		Land	Bldg	Total	Land	Bldg	y Net Tax	
Year 2024 Payable 2025	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	y Net Tax Capacity	
2024 Payable 2025	Code (Legend) 201	Land EMV \$59,600	Bidg EMV \$377,700	Total EMV \$437,300	Land EMV \$0	Bidg EMV \$0	y Net Tax Capacity	
	Code (Legend) 201 Total	Land EMV \$59,600 \$59,600	Bldg EMV \$377,700 \$377,700	Total EMV \$437,300 \$437,300	Land EMV \$0 \$0	Bidg EMV \$0 \$0	y Net Tax Capacity - 4,301.00	
2024 Payable 2025	Code (Legend) 201 Total 201	Land EMV \$59,600 \$59,600 \$51,200	Bidg EMV \$377,700 \$377,700 \$344,600	Total EMV \$437,300 \$437,300 \$437,300 \$395,800	Land EMV \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0	Net Tax Capacity - 4,301.00 -	
2024 Payable 2025	Code (Legend) 201 Total 201 Total	Land EMV \$59,600 \$59,600 \$51,200 \$51,200	Bidg EMV \$377,700 \$377,700 \$344,600 \$344,600	Total EMV \$437,300 \$437,300 \$437,300 \$395,800 \$395,800	Land EMV \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0	Net Tax Capacity - 4,301.00 -	
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 201 Total 201 Total 201	Land EMV \$59,600 \$59,600 \$51,200 \$51,200 \$48,200	Bidg EMV \$377,700 \$377,700 \$344,600 \$344,600 \$337,600	Total EMV \$437,300 \$437,300 \$437,300 \$395,800 \$395,800 \$385,800	Land EMV \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0	Net Tax Capacity - 4,301.00 - 3,942.00 -	
2024 Payable 2025	Code (Legend) 201 Total 201 Total 201 Total	Land EMV \$59,600 \$59,600 \$51,200 \$51,200 \$48,200 \$48,200	Bidg EMV \$377,700 \$377,700 \$377,700 \$344,600 \$344,600 \$337,600 \$337,600	Total EMV \$437,300 \$437,300 \$437,300 \$395,800 \$395,800 \$385,800 \$385,800	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Net Tax Capacity - 4,301.00 - 3,942.00 -	
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 201 Total 201 Total 201 Total 201	Land EMV \$59,600 \$59,600 \$51,200 \$51,200 \$48,200 \$48,200 \$48,200 \$48,200	Bidg EMV \$377,700 \$377,700 \$344,600 \$344,600 \$337,600 \$337,600 \$318,800	Total EMV \$437,300 \$437,300 \$395,800 \$395,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Net Tax Capacity - 4,301.00 - 3,942.00 - 3,833.00	
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Code (Legend) 201 Total 201 Total 201 Total 201	Land EMV \$59,600 \$59,600 \$51,200 \$51,200 \$48,200 \$48,200 \$48,200 \$48,200	Bidg EMV \$377,700 \$377,700 \$377,700 \$344,600 \$344,600 \$334,600 \$337,600 \$318,800 \$318,800	Total EMV \$437,300 \$437,300 \$395,800 \$395,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 Biding	Net Tax Capacity - 4,301.00 - 3,942.00 - 3,833.00	
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Code (Legend) 201 Total 201	Land EMV \$59,600 \$59,600 \$51,200 \$51,200 \$48,200 \$48,200 \$48,200 \$48,200 \$48,200	Bidg EMV \$377,700 \$377,700 \$377,700 \$344,600 \$344,600 \$337,600 \$337,600 \$318,800 \$318,800 \$318,800 Total Tax & Special	Total EMV \$437,300 \$437,300 \$395,800 \$395,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$385,800 \$367,000 \$367,000	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 Taxable Bui	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 Bidg Bidg Bidg Bidg Bidg Bidg Bidg Bidg	Net Tax Capacity - 4,301.00 - 3,942.00 - 3,833.00 - 3,628.00	
2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022 Tax Year	Code (Legend) 201 Total 201 Total 201 Total 201 Total	Land EMV \$59,600 \$51,200 \$51,200 \$48,200 \$48,200 \$48,200 \$48,200	Bidg EMV \$377,700 \$377,700 \$377,700 \$344,600 \$344,600 \$344,600 \$337,600 \$337,600 \$318,800 \$318,800 Total Tax & Special Assessments	Total EMV \$437,300 \$437,300 \$395,800 \$395,800 \$385,800	Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 Taxable Bui MV	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 1	Net Tax Capacity - 4,301.00 - 3,942.00 - 3,833.00 - 3,628.00	







Date of Report: 5/13/2025 2:53:35 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.